
 

Tim had 6 marbles. He 
lost half of them. 

How may does Tim have 
left?  

 

Jen had 12 Lego bricks. 
She used half to build a 

house.  
How many did she use?  

 

The farmer has 8 
animals. ½ of them are 
pigs. How many pigs are 

there?  

 

 

Sam had 6 pencils. He 
gave Jake ½. How many 

does Sam have left? 

 

Liz had 10 chocolates. 
She ate ½. How many 

are left?  

 

Tom has 12 stickers. He 
gave his sister ½. How 

many stickers does his sister 
have?  

 

Joe has 8 slices of pizza. 
He shares ½ with 

Ashley. How many slices 
do they have each?  

 

Jim kicks 8 footballs. ½ 
go into the net. How 
many goals did he 

score?  

 

Zoe has 14p in her 
purse. She spends ½ on 

sweets. How much 
money does she have 

left?  

 

Emma bakes 12 cookies. 
She eats ¼ of them. 

How many does she eat? 

 

Tom finds 16 acorns 
outside. He gives ¼ to 
Anna. How many does 

Anna get?  

 

There were 20 stars in 
the galaxy. An alien 

zapped ¼ away. How 
many did he zap away?  

 

There were 8 flowers in 
the garden. ¼ were 

blue. How many were 
blue?  

 

The pet shop has 12 
animals. ¼ are rabbits. 
How many rabbits are 

there?  

 

Abi sees 16 animals in 
the zoo. ¼ were 

monkeys. How many 
monkeys did she see?  

 



 

Tim had 8 marbles. He 
lost half of them. 

How may does Tim have 
left?  

 

Jen had 16 Lego bricks. 
She used half to build a 

house.  
How many did she use?  

 

The farmer has 14 
animals. ½ of them are 
pigs. How many pigs are 

there?  

 

 

Sam had 12 pencils. He 
gave Jake ½. How many 

does Sam have left? 

 

Liz had 10 chocolates. 
She ate ½. How many 

are left?  

 

Tom has 20 stickers. He 
gave his sister ½. How 

many stickers does his sister 
have?  

 

Joe has 12 slices of 
pizza. He shares ½ with 
Ashley. How many slices 

do they have each?  

 

Jim kicks 8 footballs. ½ 
go into the net. How 
many goals did he 

score?  

 

Zoe has 14p in her 
purse. She spends ½ on 

sweets. How much 
money does she have 

left?  

 

Emma bakes 16 cookies. 
She eats ¼ of them. 

How many does she eat? 

 

Tom finds 12 acorns 
outside. He gives ¼ to 
Anna. How many does 

Anna get?  

 

There were 24 stars in 
the galaxy. An alien 

zapped ¼ away. How 
many did he zap away?  

 

There were 20 flowers in 
the garden. ¼ were 

blue. How many were 
blue?  

 

The pet shop has 16 
animals. ¼ are rabbits. 
How many rabbits are 

there?  

 

Abi sees 12 animals in 
the zoo. ¼ were 

monkeys. How many 
monkeys did she see?  

 



 

Tim had 22 marbles. He 
lost half of them. 

How may does Tim have 
left?  

 

Jen had 24 Lego bricks. 
She used half to build a 

house.  
How many did she use?  

 

The farmer has 18 
animals. ½ of them are 
pigs. How many pigs are 

there?  

 

 

Sam had 16 pencils. He 
gave Jake ½. How many 

does Sam have left? 

 

Liz had 20 chocolates. 
She ate ½. How many 

are left?  

 

Tom has 30 stickers. He 
gave his sister ½. How 

many stickers does his sister 
have?  

 

Joe has 20 slices of 
pizza. He shares ½ with 
Ashley. How many slices 

do they have each?  

 

Jim kicks 18 footballs. 
½ go into the net. How 

many goals did he 
score?  

 

Zoe has 24p in her 
purse. She spends ½ on 

sweets. How much 
money does she have 

left?  

 

Emma bakes 20 cookies. 
She eats ¼ of them. 

How many does she eat? 

 

Tom finds 28 acorns 
outside. He gives ¼ to 
Anna. How many does 

Anna get?  

 

There were 24 stars in 
the galaxy. An alien 

zapped ¼ away. How 
many did he zap away?  

 

There were 32 flowers in 
the garden. ¼ were 

blue. How many were 
blue?  

 

The pet shop has 20 
animals. ¼ are rabbits. 
How many rabbits are 

there?  

 

Abi sees 12 animals in 
the zoo. ¼ were 

monkeys. How many 
monkeys did she see?  

 



 

Tim had 32 marbles. He 
lost half of them. 

How may does Tim have 
left?  

 

Jen had 28 Lego bricks. 
She used half to build a 

house.  
How many did she use?  

 

The farmer has 16 
animals. ½ of them are 
pigs. How many pigs are 

there?  

 

 

Sam had 26 pencils. He 
gave Jake ½. How many 

does Sam have left? 

 

Liz had 24 chocolates. 
She ate ½. How many 

are left?  

 

Tom has 36 stickers. He 
gave his sister ½. How 

many stickers does his sister 
have?  

 

Joe has 18 slices of 
pizza. He shares ½ with 
Ashley. How many slices 

do they have each?  

 

Jim kicks 28 footballs. 
½ go into the net. How 

many goals did he 
score?  

 

Zoe has 44p in her 
purse. She spends ½ on 

sweets. How much 
money does she have 

left?  

 

Emma bakes 44 cookies. 
She eats ¼ of them. 

How many does she eat? 

 

Tom finds 48 acorns 
outside. He gives ¼ to 
Anna. How many does 

Anna get?  

 

There were 32 stars in 
the galaxy. An alien 

zapped ¼ away. How 
many did he zap away?  

 

There were 36 flowers in 
the garden. ¼ were 

blue. How many were 
blue?  

 

The pet shop has 24 
animals. ¼ are rabbits. 
How many rabbits are 

there?  

 

Abi sees 52 animals in 
the zoo. ¼ were 

monkeys. How many 
monkeys did she see?  

 


